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1 Graph each of these linear functions on a number plane.
a y=-2x+1 b y=4«x

9 Find the equation of each of these lines.

3 Tind the gradient of each of these lines.

a _ (1,17
(10, 18}

(5,9)
4, 3) ‘
4 Tind the gradient of the function for each of these gables of values.

f [ -t . :

R L : .
es, of a shoe hasa linear relationship with the size, S, of the ghi
12 s 7 8
L
, 10 1(}3 o1 12 3
Which is the independent variable?
Graph this linear relationship.

What is the gradient, and what does this represent?

What is the formula for L in terms of §7
What is the length of a shoe of size 7—:13—‘?
What size is a shoe of length 13 inches?

a

b

c

d  How long is a shoe of size 07 How is this shown on the graph?
e

f

9

The distance travelled by a car is directly proportional to the number of 10
tyres, 1f 950 metres are cravelled after 540 rotations, calculate how 1nuC_1}d
nearest kilometre, is covered after 10000 rotations.
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Exercise 8.01
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The second graph is three times as steep as

Exercise 8. (
Exercis 02 the first graph.
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